Multiplication et Division par 0,1 (H)

5x0,1=

9,338 X 0,1 =

7,3187 + 0,1 =

9,16 X 0,1 =

2,7254 x 0,1 =

1,06 X 0,1 =

8,9x0,1=

7,0006 X 0,1 =

7,095 x 0,1 =

57696 = 0,1 =

Trouvez chaque produit ou quotient.

43x01=

46 +-0,1=

2,1+0,1=

7,7+0,1=

7,8 x0,1=

7,558 =+ 0,1 =

2,0415x 0,1 =

1,731 +0,1=

3,18+0,1=

8,2+0,1=
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Multiplication et Division par 0,1 (H) Solutions

Trouvez chaque produit ou quotient.

5%x0,1=0,5

9,338 x 0,1 =0,9338

7,3187 =+ 0,1 =73,187

9,16 x0,1=0,916

2,7254 x 0,1 =0,27254

1,06 x 0,1 = 0,106

8,9 x0,1=0,89

7,0006 x 0,1 =0,70006

7,095 x 0,1 =0,7095

5,7696 +- 0,1 = 57,696

4,3x01=0,43

4,6 +-0,1=46

2,1+0,1=21

7,7+01=77

7,8 x0,1=0,78

7,558 = 0,1 = 75,58

2,0415 x 0,1 =0,20415

1,731 +0,1=17,31

3,18+ 0,1=31,8

8,2+ 0,1=82
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